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1 K¥ FA 3513 34 34 68
2 IB%F A FER 36 34 70
3EK E BHIRED 32 39 71
4 HFE B BER 38 34 72
58K Bz BRAR 36 38 74
6 Al H= BER 35 39 74
7% BX =R 39 37 76
8 fEMA BEL HER 40 37 77
9 Bt & BIRED 39 38 77
10 0 Bk mARE 38 39 77
" &%\ KA HEE 39 39 78
12 BH 2 mARE 38 40 78
13 5kHE B= I E 42 37 79
14 1{H E— HE)R 40 39 79
15 FH ZEE FEER 40 40 80
16 Fhot =X HEJE 42 39 81
17 AR #£— FEER 39 42 81
18 B X BEE 42 40 82
19 Bl BRI mARE 4 4 82
20 2@ 35hF] FEER 38 44 82
21 INB &— BER 42 4 83
22 f2H IEBH IR 42 4 83
23 EIR & 3740 39 44 83
24 2K FHxk HER 4 41 85
25 {1 BEE FEESIN= 42 43 85
26 FIL £= mARER 42 43 85
27 #BiE HHA HER 43 43 86
28 KfHE 7t HRAR 42 46 88
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